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L 5%mwy 17: n’s juridical parable and the 01n3’s answer

a.37. the pnnd erred — »n asked them re: w1p2a ’»217 (see note on p. 12) (there are 4 food items in v. 1 — alluding to *y>17)
i. Error: re: y2v nRmMV (per 1) or ’»’17 (per R117) but not re: nn NRMY (37) or "WYY (R117)
ii. Note: this is why »n compared their behavior (really 8nv) to the status of the nation (v. 2)
b. Sxmw. the 01na were correct; »n had asked them about w1pa *w N — add 1731 925 to the 4 food items
i. Even though: their answer was correct, nonetheless their behavior was wrong-> as if they offered nxmva
Revisiting the text of 91y 12 70V *7’s testimony —X'navn n’a (27’s version) or XNaTn M2 ("Y’s version)
a.Note: "% must agree with YRnw that D’pwn have n”nn jnxY nRMY —
b. And: 9% must agree with 17’s version (X’navn); else, »»n’s question would be equally valid re: nxmYY NVRY
i. 772 explicitly supporting each version
c. 971 even one who holds Xn»1IRT Ppwn NRML excepts RNaVN N2 (P"N5N)
i. Challenge: if so, how can we infer anything from 71y 12 701 '7’s testimony?
ii. Challenge (8”15 82237): ™ holds (Xn»13, above) that Rn»1RT PpwN NRMY, yet here he only finds &nv if in D%
1. Answer: ypap refers not to location, but amount of water (only) which n”nn is sufficient for n»av
II. "M ’7’s opinion re: 093 RNVY PPWN NRMY (in Xn’»12 above — Ppwn are RnVn all, even DY)
a. Challenge: ®:n3 93 — nTiv "1 distinguishes (for impact of Tn->13) between Ppwn NRNN RNVI Vs, PV NRNN
b. Answer(7177 27): i 7 changed his mind (and limited ppwn nrmv)
c. Answer2 (82237): distinction between D71 nnINN IRNVI VS. PIV NNNN IRNVI
i. Rejection: if so, mwn would have stated that — rather, the first answer is correct
. How far: did nmi "2 “pull back”? to w11 »0v "1 (991R) or to n”1 (no mINR RNLY PPYN NRML at all)?
i. Proposed proof: n:0 ma; N 1 rules (contra wnan) that an animal that drank nxon ' — yna 1Hva
1.Question: perhaps nmi "1 still allows for nmn nrnmv
a) Block: p"n maintains that the animal is 8nv — that would mean n71nn ANV
b) Answer: entire n1wn is N 7 — he only allows for n%p nrmo (like w™1 OV ')

2.Rejection (»wx 27): n:0 Ma isn’t proof — in that case, the liquid is fetid and no longer xnon
IV. nynw ' oY “9’s opinion re: Y218 RNV PPVYN NRMO

II.

(oW

a. "1 ov "1 was following his teacher, ", in interpreting Xnv? >rnY? (others) per 1:n NVIO
i. Texts: y™ interprets v. 3; ov " applies it to v. 4
ii. Cannot mean: to infect other liquids
1.977 no precedent of object transmitting nkmv to similar object
2.x2227. if it intended ppwn nrMY, verse could have mixed them together
Nor can it be: to infect 93 — a ’93 infected by npwn isn’t 0’93 RnNYN; 1P in our case
1.Since: yaw nnnn pPpwn would be inferred via 1"p, can’t extend to 093 RnVY because of limitation of 177
iv. Examining the 7w77. Rnv» must refer to infecting Ppwn, can’t refer to *93 because of 1"
1.Also: must refer to ppwn which are “receptive” to nRmMY — as they need no w0 (per v. 5)
a) Justification: 8”10 that food is more stringent because it is ppwn xRV —
i. 5pp. that is the XN of ppwn
2.0n each: fro 7w ynnn nkmv and the other for '3 nnnn nrMY
a) Justification: if we only knew "2 nnnn, R"1o that p7w nnnn (1nn) would make it 12 k¥
i. And: we could have had only y2w nnnn — but ®1p 1% an2 MV ,)”pa RNRT RNYN

iii.
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